
 

 

 

 

 

 

                                                    SNOW HITCH  #5341HO 

 

The snow hitch is universal and can be bolted to the Herc sled rail system with provided mounting location. 

Snow Hitch can also be mounted to other location if you desire just make sure these location are strong enough to 

handle the towing pressure. Other mounting place may require longer hardware which is not provided with the 

snow hitch kit. 

 

 

 

 

Questions or Comments Call 320-964-1616, Monday thru Thursday, 7:00 to 4:30 CST                          INST5341HO 

ITEM PART# QTY. DESCRIPTION

1 5341-1 1 Tow Hitch Main Tongue

2 5341-2 1 Hitch Backer Plate

3 5341-3 2 Hitch Pivot Bracket

4 HDW2031 1 1/4 x 3-1/4 Hex Bolt

5 HDW2002 2 1/4 x 1 Hex Bolt

6 HDW7050 3 1/4 Nylock Nut

7 HDW9012 2 1/4 Flat Washer


